HSC 2001 - Personal Development,
Health and Physical Education

Question 18

Use the following information to answer Questions 18 and 19.

The table shows four stages of an aerobic endurance plan.

Stage | Duration Frequency Intensity Time Type of exercise
(weeks) | (times/week) | (heart beats/min) | (minutes)
I 3 4 140 30-45 Walking
I 3 4 150 30-45 Walking/jogging
I 3 4 160 40-50 Jogging
v 3 4 165 40-50 Running

18  What does the change in the level of intensity from Stage I to Stage II represent?
(A) Progressive overload
(B) Reversibility
(C) Specificity

(D) Variety
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 53.5 80 924 97.3 100
B 6.5 0.9 0.3 0.7 0
C 18.5 5.9 2.7 1 0
D 215 13.2 4.7 1 0
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.



	18: 
	subject: HSC 2001 - Personal Development, Health and Physical Education


